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INTERNATIONAL SKILL ENHANCEMENT TRAINING (iSET) 2019

CLASS 4
e Max Marks 100
e All questions are compulsory.
e Each question carries 2 marks.
Name: Reg No.:
1. Choose the correct word. The teacher is sitting his desk.
a. in
b. at
c. on
d. under

2. Saurabh travelled from his Home to the
Library. He took two routes.
1st route: Home — Hospital — Mall —
Library
2nd route: Home — Park — School —
Library
Which route is the longest and what is
the distance?
a.

b.
C.
d

1st route, 12 km
1st route, 43 km
2nd route, 12 km
2nd route, 31 km

3. There are 3 stars on a flag. There are 7 such flags. How many stars are there
altogether?

a.

b
C.
d

20
21
28
27

4. When arranged in order from the smallest to the biggest, which number will be at
last position in the sequence?
21,12, 79, 63, 36, 47

a.

b.
C.
d

79
36
47
12

5. In which of these words ‘H’ is silent?

a.

b.
C.
d

Hare
Hour
Half
Whole



10.

11.

12.

13.

Which of the following is the correct order of planets from the nearest to Sun to

the farthest?

a. Mars, Earth, Venus, Mercury
b. Mercury, Venus, Earth, Mars
c. Mercury, Mars, Earth, Venus
d. Venus, Mars, Earth, Mercury

Study the given family tree carefully.
How many nephews does ‘X’ have?

a. Three
b. Four
c. One
d. None

There are thirty tables and thirty
a. chair

b. chairs
C. a chair
d. chaires

in my classroom.

The product of a number and 6 is 240. The number is

Identify the name of the machine shown in the picture.

a. 40

b. 80

c. 144

d. 1440

a. Windmill

b. Solar Panel
c. Elevator

d. Radar
India lies in which continent?
a. Africa

b. Europe

c. Asia

d. Australia

Animal called the ship of the desert
a. Chameleon

b. Lizard

c. Snake

d. Camel

What shape will come next?

Key :

[] male
O Female
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a. b. C. d.

14, Look at this series: 7, 10, 8, 11, 9, 12. What number should come next?

a. 7
b. 10
c. 12
d. 13
15. is a vehicle for travelling in outer space.
a. Car
b. Aeroplane
c. Space craft
d. Bus

16. Select the INCORRECT Match:

State Capital
a. Bihar Patna
b. Kerala Thiruvananthapuram
C. Punjab Chandigarh
d. West Bengal Bengal
17. is known as the 'Big B’ of the Indian film industry.
a. A.R. Rahman
b. Abhishek Bachchan
c. Amitabh Bachchan
d. Salman Khan

18. Identify the signal used by umpire during cricket
match.

a. Wide ball
b. Sixer

c. Four

d. No ball

19. How long does the Earth take to make one complete revolution around the Sun?
a. 24 hours

b. 28 hours
c. 240 days
d. 365 days

20. Namita drew a figure having all equal sides. Which could be the figure she drew?

y ¥ IN

a. b. C. d.

21. What is the next number in the pattern below? 125, 150, 175, 200, ...?
a. 205
b. 215



C.
d.

225
250

22.Internet can be used for

23.

24,

25,

26.

27.

a.

b
C.
d

Checking exam results
Chatting

E-mailing

All of these

Mohit went for swimming at 2:30 p.m. and returned home 3 and half hours later.
The time he came back home is

There are 3 rows of strawberry plants. Each row has 6 plants. How many
strawberry plants are there in all?

a.

b.
C.
d

9

18
22
24

Ram, Rahul and Rohit shared a bag of marbles. The bag contained 272 marbles.
How many marbles were left over after the friends shared them equally?

a.

b.
c.
d

90
91
6
2

There were 3856 trees in a forest. In another forest, there were 4795 trees. How
many more trees were there in the second forest?

a.

b.
C.
d

930
939
1689
1600

Following the graph of favourite flavours of ice-creams in children in a colony.
Answer questions 28 to 30 based on this graph.
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vanilla chocolate mango strawberry banana

28. Which are the two least favourite flavours?

29.

30.

a.

b
C.
d

Banana and mango
Mango and strawberry
Banana and strawberry
. Vanilla and chocolate

How many children like banana, mango and strawberry flavours altogether?

a.

b.
C.
d

15
12
14
13

What is the difference between the number of students who like chocolate flavour
ice cream and the ones who like banana flavour?

a.

b

C.
.2

d

5

.7

6

Match the following cities/ states to their nicknames:

Name of the city/ State Nickname
31. | Jaipur City of pearls
32. | Kochi Orange City
33. | Bangalore Pink city
34. | Hyderabad Queen of Arabian sea
35. | Nagpur Silicon Valley of India

36. Who is the current Vice-President of India?

37

a.

b
C.
d

Hamid Ansari
Venkaiah Naidu
Shankar Dayal Sharma
K R Narayanan

hich is the campaign that aims to keep the country clean?

W
a. Each one, teach one
b.

Sarva Shiksha Abhiyan




c. Swachch Bharat

d. Make in India
38. invented television.
a. Alexander Fleming
b. Albert Einstein
c. Thomas Edison
d. John Baird
e.
39. Gir forest in Gujrat is famous for
a. Giraffes
b. Wild buffaloes
c. Lions
d. Pandas

40.The Roman numeral for 15 is

a. XV

b. XXVI
c. VwW
d. XIv

For questions 41 and 42, State whether true or false:

41.0One foot is equal to 12 inches.
42. A doctor who takes care of our teeth is called a cardiologist.

43.Small and bushy plants are called shrubs.
Read the following passage and answer the questions 44 to 48:

Seagulls live on the beach. They eat small fish, bread, and seaweed. Seagulls run quickly
on the sand and fly quickly in the sky. Seagulls will run or fly away if you try to catch
them. There are many seagulls on the beach.

Crabs also live on the beach. They eat shrimp, ocean plants, and small fish. Crabs crawl
quickly on the sand and in the ocean. Crabs will crawl away if you try to catch them.
There are many crabs on the beach, but it is not always easy to see them.

Starfish live on the beach, too. They eat clams, oysters, and small fish. Starfish move
slowly on the sand and in the ocean. Starfish will not move away if you try to catch
them. There are few starfish on the beach.

44, Seagulls, crabs, and starfish all eat
clams

bread

fish

plants

o0 oo

45. Which animal does not move quickly?
a. starfish

b. seagulls

C. crabs

d

octopus



46.Based on information in the passage, which sentence is false?

a.

b.
C.
d

Starfish are hard to catch.

Crabs eat shrimp and ocean plants.

Seagulls move quickly on the sand and in the air.
Crabs live on the beach.

47.According to the passage, seagulls

L.
I1.
I1I.

live on the beach

move quickly in the ocean
eat bread only

a. Ionly

b. I, II, and III

c. IandII only

d. Iand III only

48. Based on information in the passage, which animal would you be most likely to
see at the beach?

a.

b.
C.
d

crabs
seagulls
starfish
blue whale

Answer the questions 49 and 50 based on the following situation:

The students of class 4 are having a party. The teacher ordered 12 pizzas. Each pizza is
divided into 6 pieces and each student gets 3 pieces.

49. How many students are there?

a.
b.
C.
d.

39
26
25
24

50. If each pizza was divided into 4 pieces, how many pieces will each student get?

a.

b.
C.
d

1

3
2
4



